th& 184 OM = ON, /B = 75° &
o, /A o] 27]=?

O 25° @ 30° ® 45° @ 50°

® 65°



oh& oA 41 PA, PB & ge] 44
olal FA, B + HHolth. /PAB =60°
2 ), AB o] Goli=?

® 12V3cm @ 6V3cm ® 6cm

@ 9cm ® 12cm



D 2cm ® 242cm ® 243cm
@ 4cm ® 4vV3cm



of Al ABLOP ©]1L AB =12,

MP =

® 175

3

Q]
=

o,



@® 40 (cm)

@ 42.5 (cm)

@ 41.5 (cm)

® 42.7 (cm)

® 42.3 (cm)



6. TS 1A AD = 8cm, CD = 3ecm & T, & 0 9] ¥Ix] & 9]

dol&?
1
@) 7ch @ 12cm ©) %cm
2
@ gcm ® —5cm



7. o 29O 90 oA AT REel
Yol=7 (@ AB = OD)

® 35cm? @ 40cm? ® 52cm?

@ 60cm? ® T72cm?



cFe T o] o] 5 AB 919 9 W T 2 ALk HAle] A
AB ©] o BHelA 1 F4u vk A A7 D, C 2 & ),
A B 0] Holi?

2cm

@ (40 — 8m)cm? @ (40 + 87)cm? ® (80 — 8m)cm?
@ (40 — 47)cm? ® (80— 167)cm?



OdFA 9 O & AABC 9] o]
T AAHD, E F+&HHEoth AD =
2, BD = 6, AC = 6 ¥ 1], AABC ¢

Hole?

D 10 ® 10v3 ® 18
@ 24 ® 30



10.

AB = 12cm & A 522 5h= 1Y
O ¢toll OB & 522 of= ¥
O o] At AQ 7Herel O 9] A4
ol ¥ P 7t FHolzt & uf, AQ
o] dol=?

® 6+V5cm @ 6+V6ecm
@ 8+v2cm ® 8+3cm




